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Sifleyewyaer : (1) Didedg Neammds@nn sNwurs =L ufleurd) o GrerHm 6T NS 6D e
shlurigg s derdrarand. wosiudalad Gmpuilml Qe o@D
semareniluuTerALib 2 eangwrs Qsfeléseb.

(2)  Beod siag SHmUY wulemer T(PEIUIBDGD 211q-6CHMig.(H UG ME D
LweuBgs GeuamBid. LLBs6T aiamreusn@ 6 uemse LT (H SEHeLD.

nstructions : (1)  Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

I+ @euellenTSSTeT HeEI(E LGEHs@aTs CsTarTg).

ote : This question paper contains four parts.

@S - 1/ PART -1

By (i) emensgl elanmasEné@n edlenwelléseyL. 12x1=12
(i) Qasr@HsésuuLerer BI6esiE wrHn elaLseld Wsea b FhymLw
e _emars CorrdsBss GHULHLer et lemaryyd @Eﬂ'g)g]
GT(PBSLD.
te : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer. e _

T [ deuys / Tﬁm-._@ve.n
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) iﬂ‘(‘émrré)umb eNena cTaTUg D@ &wowmELb.
' (<) 98 e an l (=) 98%104 N
(@) 98x10! e () 980 enLen
One kilogram force equals to
(@) 98 dyne (b) 9.8x10'N
(€)  98x10% dyne (d) 980 dyne

0 ghuewvas Spear GoapurloLé s Qelw o gajeus) :
() eQeans (<=1) GYQes

(®) ey () @ Gew Qeers
The eye defect ‘Presbyopia’ can be corrected by :

(a) convex lens (b) concave lens

(c) convex mirror (d) bifocal lens

10 sagyid Benggngenp g BaapHgido Qran® ydralls@sfarGu paiss
Qaiwiumw Geaeme 100 | aralld @dydals@EsforGu edrar Baawss

Geumuin(®) eremen ?
(o) 0.1 Gouméor. («24,) 10 Gaumrdin

(@) 100 Geurébr. (rr) 1000 Ganrdi

The work done in moving a charge of 10 C across two points in a circuit is 100 | What is the

potential difference between the points ?
(ay 01V t 10V

¢y 100V (d) 1000V
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4. Qswpens sHNwssGHOES STT_fEgauf :

(=) QuUEQsTTE (<) gflem Huy
(&) e _gen . () fevav Gumi
Artificial radioactivity was discovered by :

(a) Becquerel (b) Irene Curie
(c) Roentgen (d) Neils Bohr

5. @rsssemal o meurssdld Camauliu@n wsdlwwrer 2 Gansh
(1) Ag (<) Hg (@) Mg () Al
is an important metal to form amalgam.

(@) Ag (b) Hg (c) Mg (d) Al

6. @O Qauliufleneuile, SN(PSFE5DS <ifsfNsEnturg Brogdd eumw el 6ot
sanyEmern _

() =fsfssing

ellenen @eenev

erature, the solubility of gases in liquid

(1) wrHYLledEna

(@) ©@pdng (FF)
When the pressure is increased at constant temp

(b) increases

(c) decreases (d)  mo reaction

crafld, oigan [OH ] Qe eremen ?

7. g sersdan pH wiluy 3
(@) 1x100"1"M () 1IM

(21) 1x107%M (<},) 3 M
[OH"] concentration is :

The pH of a solution is 3. Its
() 1x10~1M (d 11M

@ 1x107*M (ty 3M
[ S@uus / Turn over
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CH;OH + 30, - 2C0, + 3H,0 eramg)

(1) erdgaTe) @O&Lh

() erggammed erfge

(8) samis sl oysHnGaHDLD
() ergsCaned ots8mCanpmid

CHyOH + 30, —2C0, + 3H,0 is :

(@) Reduction of ethanol

(b) Combustion of ethanol

() Oxidation of ethanoic acid

(d) Oxidation of ethanal

srevCGuflwer L et ser Geufler u@Huler sretliLBGEDSI. .
(=1) Ypenf (<) 95
(@) Quiflenasder () =55Csma
Casparian strips are present in the of the root.
(a) cortex b) pith
(c) pericycle | - (d) endodermis
s GCrmGrGemble Ceean Crmilwi ewwsdd sramwiiudEns.
(1) eCarlger s (=) QL relsear s
(@) s0-QuiLrtsern s () D&ECrrelgear s
The centromere is found at the centre of the chromosome.,
(a) Telocentric (b) Metacentric

() Sub-metacentric (d)  Acrocentric
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@iy : ameuGugid o

Note : Answer any seven questio

13.

14.
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. g519
2@ T 6y e :
(<1) g&DUT 1

(<=2p) Gw 31

(@) gure 2 () @&CLmuir 2
World AIDS Day :
(a) Decembel' 1 (-b) M ay 31

() April 22 (d) October 2

DnFUL_(Hb sremrmeaflsener 2 (heunds LweTuBb QuerQummer ergl ?
(1) Paint (<24,) PDF
(@) MS Word (rF) Scratch

Which software is used to create animation ?
(a) Paint (b) PDF

(¢ MS Word (d) Scratch

L@S - 11/ PART - II

w AarésEnéE e wailssab. eflenm eram 22 -&(@&
S e
sL_L_muwons el waflEsa]lo. x2=14

ns. Question No. 22 is compulsory.

R FCamifl - euengw -
Define one Calorie.
QL L@ GrempiTed G :

: itudinal wave ;
What is a longitudin - [HGUUS / Tum gy,
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15, @®bY siImGyssmissnar Qo srreRTRIG@ETS B,

16.

17.

18

Sta it
te two conditions necessary for rusting of iron.

Qurmhgss.

L. Sleoad Qswe G!yr@ﬁl -OH ()  Ouenden

2. vedler euenerw Gairomisar (i) Quriirflwd eviguwGrl
3. Bewpeynr Csromisdr (i) Zpsammed

4. Geruy (iv) 1Quprme

5. emiGur eusnetwé Cafwoiiser (v) mgSen

Match the following :

y A

2.

W

Functional group -OH (i) Benzene

Heterocyclic compounds (i)  Potassium Stearate

Unsaturated compounds (iii)  Alcohol

(iv) Furan

Soap

Carbocyclic compounds (v)  Ethene

Bpw aurdeymeflen apadluiggieun et ?

What is the importance of valves in the heart ?

Cundrai” eramprd erarar ? Seng eriuy Qeupesurs exssaldsamnd ?

What ie Bolting ? How can it be induced artificially ?
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19. Gar@ésiin Gerar uLSHD A, B, C, D @y urshisear e e —LD

20.. Hef upeneuulen SamgaimLbs @Qn&msseT, @M QupUULL U6y, el g

QUi L LewrL] erer simpssLILGEnS ?
The aegenerated wing of a Kiwi is an acquired character. Why is it called an acquired

character ?

D o @ i ' 6u ?
21.  wriser Qe L lu@agrd o @G edleneTa&eT Wiren

What will happen if trees are cut down ?

I

22. BCaafldr e gafloriuseflen F565% GeeU HTas.

it sthane (CHy).
Find the mass percentage composition of methane (CHy),

[ ﬁ@ﬂuﬁ / Tum OVEr
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u@S - 1/ PART - 1
Gy : fTmeuCuenib e NamdHsE@HEEG eflen L wiaflé s e D eflenm ereior 32 -&
SLL_Mwiores llenL_wiafl&H6,Lb. |
Note : Answer any seven questions. Question No. 32 is compulsory-
23.  medlwieyly GUITLY FLOGTLIML g a0 H(medl.

24.

25.

26.

27

28'

www.freetnbooks.com

Derive the ideal gas equation.

S liurieneu HOID GIFLUrTemel Gmpurhisener Caupub58s.

Differentiate the eye defects : Myopia and Hypermetropia.

<peour, LT wpmib smors sfisaflar uamysmer @UIEIHS.

Compare the properties of alpha, beta and gamma radiations.

T Crr eflduder LeTUTHE®ET 6T (P55,

Write the applications of Avogadro’s Law.

() 2Carss some GTETMTE GTEuG ?
(i) 2-Gorss sQMA B (HEUTEHGEUSDETEN STTERTEISENETS Fafis.

(i) Whatisan alloy ?

(i) State the reasons for alloying.

Gomnles g,nuummu.lrrésassb pepen eSS,

Explain the mechanism of cleansing action of soap.
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30.

32.

GPILY : Smensgl lamss@ss@n oL wualbsan. Comawrer GLbisaile L
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DLW pen QUID BUQUWTES Bapsfluien g Haosmar TSI,

How does locomotion take place in leech ?

Bl res e enwlient LULSFIL e aﬁleurﬂé;a;me.

With a neat labelled diagram, explain the structure of a neuron.

()  wewewThCNered 2 QMLT&&5EIq W eflenaTayseT Wirenay ?
(@)  warerrfldier Befli ereueummy sHUIST ?
()  What are the consequences of soil erosion ?

(i) How will you prevent soil erosion ?

90 Hz 9ifliCeuamanenr 2w @dl epewrarg galufar HaosGausidea (1/10)
LG Cousgdld e Hlaauie oder Cal@gpar oL fpg. CslGprme
2 anruu@D iSlreleua ererer ?

A source producing a sound of frequency 90 Hz is approaching a stationary listener with a
speed equal to (1/10) of the speed of sound. What will be the frequency heard by the

listener ?
u@@ -IV/PART - IV

aienTiLIauLb. 3x7=21

Note : Answer all the questions. Draw diagrams wherever necessary.

33.

(&) (i) Q_‘['bﬁ mrrmrrg'r, Carium_enLa &h]ﬁ <D| & 6M 6T Quwinss.

(i) PHmlusHpen pHHeud .
S|6V60 g

[ ﬂ@ﬂq& / Tl.ll‘n Ovep
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WBlenGesrmi_L_Lb CTEIIMTED GTedIenT ?
BenGenm’ e oenss s, DG e Qu@UpEED:
WlenGenmr’ Lgeng s smeulden apab wared D ? @ 26
L) 67 b ol 6y ETEURIMD) @)eneRTéaiILIL Ceuagr(wo ?
State and prove the law of conservation of linear momentum.
State the principle of moments,
OR
What is meant by electric current ?
Name and define its unit.

Which instrument is used to measure the electric current ? How should it be
connected in a circuit ?

b 2 Mersd GoronsEpésn, mrb e Mleré seamrub GamomsEps@LD
@enLCuwrer GCeumurhser wreneu ?
Gaflit GrCaemaafler Breump 2 Wifamisdr Sifsb eurpileamen. erem ?
S D|ETE| FHAIHLD UDTWDIGESELD.

S0V
Serefenar wpmib Wermellenar Caimu(B58!8
‘A’ gra SewTiod Ceingens Qaiutu@ssid Auns) Awsps B wHDID
' eremp aumeeus smEDS. ‘C arenp aumyemen fifler egisgbGLTg)
<l@g FETEnDWTE IMIEDS! erafléd, A, B opmid ‘C -apwis seTLhs.

In what way hygroscopic substances differ from deliquescent substances ?
The acquatic animals live more in cold region. Why ?

Define volume percentage.

OR
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(b) (i)  Differentiate reversible and irrevergiple reactions.

() A solid compound ‘A’ on heating decomposes into gas ‘B’

£ = m
the gas ‘C’ and ‘C’. On pass 2]

through water, it becomes acidic. Identify A, B and C.

35. (o) Caupur® sms.

0 @ deosiomns sty o wpmid Q@ eflengufenas sreuy Gouir.
(i) STHOIETET HEUTED WHMILD L — ;
3|06V g
(=) ) &CrrurGsmbilen @iemwiimu eNeufssab.
(i) Counu®sss
2 La Qe gen Sldldens wpmib @ardbsm gder Sdlsams.
(a) Differentiate the following :

(i) Monocot root and Dicot root

(i) Aerobic and Anaerobic respiration

OR
(b) (i) Explain the structure of a chromosome.

(i) Distinguish between somatic gene therapy and germ line gene therapy.

-00o0-
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